N {§2++yy2i13 7 D @ {% i T

> lﬂiﬁ
Ia=2 Ta=-2 =obaep Lo ] /f,

- \

S T2 2R K
2 e ~)=2
Lr () =1 3’1;11; 1=
2 —A X o
2 —2A —\2=
;tl;u e —(Xz)DL-&):o
3 {’L | L\
A== A= W
.l =i, ] L
M= =
“ {x+2y=1 5 o= 12Y ® {3z—y=10 — 2A-10=Y
2t +xy= 21Q— -1 5 2—2y=12 — THYSVWH SL3H3 A2
R CH“VIELH nl‘?’]\]—a—’)}:‘a\ 12‘2(37l e ) =2
129 )y (2y)xy =2 L~bA+q =°
2 =5
792 '"28 h (1=2) A=) =°
\ - A B =
(:zgfs){‘j““r)"" {§-—4 f =
R
rY=- t = M= *
1f,1=g * VA=
2. 08 IUTRAE FAL. |
D\JTH Y
W {2 e fg =0 T (4 2Y)Ay)=e | @ {iﬁ*j“’% 3% i ———-—-—~—*>(1;Lj)(1+%j)
A2Yy=9 OIDRVER _
{21-\ =2 %Jffj *= @){ =
J ) " ¥ LrAy—h=0 11+1J b=o
g = )&—ﬂf*\\f: 9 2 _—
o Lot |22 =e
202y )430 Y, 3M=9 N — (—23))1»(‘33)’\‘9'{”
9\1 :9 - \T_ @ 1:\3: )
SERVEN . ﬂ 3, pU=

/ 533

2

Y

|




O O
3. AU A {””Jy?f 2 BEAFE 5, y9 ol A5 W, A5 o9 7Y WAS FEA L.
Y=3-A 023 L (5-’7()2—‘ O
2f—bA ~r =D 2 T oL RguTh
0\7¥\}}2§h)) Q_f~é9(—(/\+8 =0 2 SH: Bhops THAEW D > CIth,
0=2, b=-3, C=-0+8

ety > 2
ity D = (W) -aC = (=30~ 2x(-0x8)

=9%20-10 o
o0 ([
w7 2
4, 52 o= DIY 9& &3 E9 At 23 Fyojg
00 M7 T HE 23
v

MA RSEC2 EUY =AM 2.

Aol FArbete] ¥ A E#H 9 ZolZk 340 cm, Hol7b 6000 cm’Q HAMZHE Eokoltt. o] dgre
tzbde) Zdolg Faten & o), 3o gl 2At

(1) g2 7122 Zol& z cm, AEY ZolEF y cmety & o, ddo =9 ZAojg} Holg z, y9
AHLEA g2 YERfe] BA}

2) &1 MY AFLAA L Fo z, y9 &S 747 F3tzm, 999 gz Zdol& FalEak

()
\ K—%‘Eﬂ&\ RN ) = .;ZOHl!) =3/k0
k ZRISHR ey = | Fo

‘kl a2l (1_375\) 5 jj =[ooo

| A4y =170
wetd gy b Y
:el ” L :i\\j - 6000
=130~ o233 [y ~ =poov | & | -
(27 9 \ I OD‘ \7‘0 j’ ) é ':_:-'_H)-,LH@\ >21w\>:
~L+70 A —booo =9 l U

=170 A +booo =0

&as—.ez- ASTESHNI FiSAC1LMINIOHLC



